202435 Z0jah LBt

B AXXD}

& MY SH(ZSL2E/HS)
el HeIEME 54 (CHl: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
A=)} 21,412,422 16,245,425 5,166,997
p) 489,750
o 5,000,000
[ 1,221,637
Al 14,701,035
MBS SH (23U 22/HK) 21,358,030 16,215,329 5,142,701
p) 489,750
o 5,000,000
[ 1,221,637
Al 14,646,643
AREHS B4 3,110,952 1,930,759 1,180,193
NAATXCA S4 66,000 47,280 18,720
201 LB 52,100 32,000 20,100
01 AF222IHI 31,100 21,000 10,100
OHS#A 23X X
350,00024%703] 24,500
OR2HrY SH&Eal ARt 3,300,000 %23 6,600
02 222 1,000 1,000 0
OMSU3 Hstx 2, & 2HY A2Z
S 1,000,000& 1,000
03 BAH2H 20,000 10,000 10,000
O2A= = 2 & o9 M3
20,000,000 20,000
202 O4H 5,400 5,280 120
01 2UHo| 5,400 5,280 120
OAZX]|E AREX
100,000 24«3 *23|+0H 5,400
203 AR=ZIH| 8,000 8,000
03 AIRERAREZIH| 8,000 8,000 0
OX=2 & T2l HKUs KX
8,000,000 8,000
307 212+0|& 500 2,000 A1,500
0192 2 3=t 500 2,000 A1,500
OMSHAINY PZUE P
500,000 500
LRTOIHA H5HHE 9,000 9,000
201 L2 A 8,000 8,000 0
03 BAH2H 8,000 8,000
OH3tlE &AL 8,000,000 8,000
301 LBE A3 1,000 1,000
11 BAFAHIXIRZ 1,000 1,000
ON2BEFTN 24 1,000,000& 1,000
ARX0PE |4 123,900 121,540 2,360
201 L2 A 33,500 29,500 4,000




A AEXLG
M MY SH(2SL2R/HS)
e deENE 'Y (Crel: & 2l)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
01 AtR22lt] 9,000 8,000 1,000
O &9 A 60,0002 x50 3,000
OXXEdH L 2|Z M=
5,000&*1,000% 5,000
O3Z2AY & SXAY SEE M
200,0002+53] 1,000
03 AL2ZEH| 24,500 21,500 3,000
Oos=28 J188 7Y 20,0002 *4007H 8,000
ONX &g s2+ 7
25,0002 +3008HA 7,500
OXXEsd 84X & 2% K&
3,000,000 3,000
OM=Ua Mz & 29 x|
6,000,000 6,000
202 0t 6,400 7,040 AB40
01 =LHOAHI 6,400 7,040 AB40
ON= MEHH ESL20PIE F&
100,000 x2H =23 |+8 2 3,200
OAZXAY |4 HRFEX
100,000 x2Z+23|«8 & 3,200
203 FRF&H| 1,000 1,000
03 Al FRHRFXI| 1,000 1,000 0
OAZXOIANE 4 FA 1,000,000 1,000
301 et Z 83,000 84,000 A1,000
11 HALRHIXIRA S 3,000 4,000 A1,000
oozl pplgEas X 3,000,000 3,000
14 J|Et243 80,000 80,000 0
ONXE&A H4=C MLl X
80,000,000 80,000
EHHAI AT 2SHI|IR2Y 288,289 271,800 16,489
201 Br23H| 5,715 6,479 AT764
02 2223H| 5,715 6,479 AT764
OalgE =4 29 2,815
ozl 34,5003+ 128 414
oFIIR2 20,0004 122 240
ootk 2= 15,000« 122 180
oSARIB(TVrAIZ , AIHUAIEE)
48,4002%128 581
oA Z Y| 200,000&x5E 1,000
o Al&2te IS Xl 400,0002 400
OAlgE X 2Y 2,900
oXt&RAH ¥ XS XAl 500,0002 500
o Xt 2H| 200,0002 12 2,400
301 Ler2d&3 282,574 265,321 17,253




2 AZXD}
I XS SH(2IALZE/NS)
ool HCIEXNE |4 CEREERD
SN BB ERI(E) - HRAMY - B I e HIRE2
Roste - 2SRSEA3 282,574 265,321 17,253
OalE 29 282,574
oXEA JlEs 2,982,000 18122 35,784
ods JI2S(IIE)
3,223,000+ 12128 38,676
ol Jl2s 2,860,000 * 12128 34,320
ol J1=2 2,686,000 %1% 122 32,232
ol Jlgs 2,575,000 %1% 128 30,900
oXNIEX=g 500,000 * 1 x 122 6,000
oxJINESY 300,000 %1 SH* 122 3,600
ol HEE|
100,000 42122 4,800
oAl 130,000 *5%* 122 7,800
o==H 50,0002+5% 122 3,000
oXISX BEEIMI
2,982,000 %40%+ 1 & *23 2,386
ol HESIH|(ZIHHE)
3,223,000 #40%+ 1 H*23 2,579
oy HAEESIM
2,860, 0002 *40%* 1 *23] 2,288
ol HESIH
2,686, 0002 *40%+ 1 *23] 2,149
oils HAESIHI
2,575,000 +40%+ 19%23] 2,060
o2 X2 L W3 =AY|
10,000, 0002443 40,000
SiE=] 800,000 *5%*23] 8,000
oliala ZAZ 5,000,000 23] 10,000
oSURE 7AUH| 4,000,000 *x4H 16,000
SINSEAS XA 1,582,044 412,760 1,169,284
307 212+0| & 8,000 55,000 47,000
02 QIZHHANAIIE T 8,000 55,000 47,000
OAEHE E H3Ed X 8,000
308 XXIEHRISOIA 1,574,044 357,760 1,216,284
CIMESIENFEEES 1,574,044 357,760 1,216,284
O UHE SEE=S X 217,960
OstuiE XIS o12H| X 152,400
OHE M2 A=K 251,000
OXAE HSZ 2292 X 917,684
OAEMA S H3IEHXA 35,000
Hes 29 X 343,895 411,903 68,008
307 Q10| 343,895 411,903 68,008
03 QIR E 2HHI 8 X 343,895 411,903 68,008
OEHHAIHZE SO 194,916




2 AZXD}
I XS SH(2IALZE/NS)
gel: delEME |4 (Crol: X 21)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
o AR=2FE 2,817,000+ 18122 33,804
o83 3,009,000+ 18122 36,108
o8 2,808,000+ 18122 33,6%
oYy 2,635,000 %22 122 63,240
oY 2,339,000 % 12122 28,068
OBEEEIHI 16,243
o AR2FE 2,817,000 * 1 H*50%*23] 2,817
=E 3,009, 0002 * 1 *50%+23] 3,009
=E 2,808, 0002 * 1 H#50%+23] 2,808
oY 2,635,000 x2H #50%+*23] 5,270
oY 2,339,000 » 1 H*50%*23] 2,339
o4z 240,037,000 x11% 26,405
EIXREEZ 21,703,0002 21,703
OAIZte| gt 7.880
OANR2HE 12,531 2% 10AI 2122 % 1 1,504
oEIZE(2¥) 11,3192 % 10A| 2H 122 %0 2,717
oZ2(3Y) 10, 1622 10A1 2+ 1221 +3 3,659
O3l 10,080
CAIR2HE 140,000+ 1 x 128 1,680
ocEE(2Y) 140,000 =2 x 122 3,360
oZF2(3Y) 140,00024x3Hx 122 5,040
O=ZB=xH| 10,920
CAIR2HE 165,000 %1% 12 1,980
SEIFH(29) 15,0002 %224 x 122 3,720
oZF2(3Y) 145,00024x3Hx 122 5,220
o2gH| 38,148
O3/ HZAHHI= 17,600,0002! 17,600
AR EHE SAF X 411,3% 392,001 19,395
307 212+0|& 411,3% 392,001 19,395
02 QIFAAAIRIE R 411,3% 392,001 19,395
OM=SEIEY| 411,3%
oHFAES QA 379,3%
oSN EEH| X 10,000
oMIMYIFUS EIIXI 6,000
cUAZ|EXSUHS X L 4 8,000
CHIAR SAXTH L 248 X 8,000
M2 L Coe RIEHSUE At 29,148 23,238 5,910
307 212+0|& 29,148 23,238 5,910
04 DIZFSHAIAIRIE X 29,148 23,238 5,910
OUCIEXMSUE &It 29,148
LACOIHA ZI} 182,280 191,237 18,957
307 212+0| & 182,280 191,237 18,957




2A:
X ZH
S

HEE

SA - BB S2(3) - HIRAR - BAS e e bl D2
04 QIZFHAAIH E X 182,280 191,237 A\8,957
OXNi593l 2A=2HE &It 182,280
ZJEFC 20 gofs Set Al 88 50,000 50,000 0
308 MAIHSOIH 50,000 0 50,000
3 B 2SO CHeE A X AAE ALY 50,000 0 50,000
O223AZE 22 FC LEDEE, ZIIZ BDR S
50,000,000 50,000
ERgHar AIH HESSl 8XI8 At AFRE 2228 25,000 0 25,000
401 AIZHIZ 20| 25,000 0 25,000
01 Al2Hl 25,000 0 25,000
OAIR4 2cl2ad At 25,000
HEH=U= 2,188,228 1,383,082 805, 146
& 25,000
Al 2,163,228
EHERAIED] W 20 = =02 14,496 13,530 966
307 RI2H0IM 14,496 13,530 966
04 QIZHHAIAIHE X 14,496 13,530 966
OEHHAIED] S €0 2= 14,496
EHZ HI=SUHSEMI EHERAIEEE OHOR 188 50,000 30,000 20,000
& 25,000
Al 25,000
307 2I2+0| ™ 50,000 30,000 20,000
& 25,000
Al 25,000
04 QIZFHAAIH E X 50,000 30,000 20,000
OEHZS HH=CHER ERZRAIZEH Otop 14 & 50,000
& 25,000
Al 25,000
Bize =0HE 2SHEE 179,897 96,870 83,027
307 RI2H0IM 179,897 96,870 83,027
04 QIZFHAIAIH E X 179,897 96,870 83,027
OHzE =0tHE 2E JE2U3 179,897
EHEHAIZD] IS0 2] 92,046 98,988 N\G,942
307 eI2to| ™ 92,046 98,988 26,942
04 QIZFHAAIHE X 92,046 98,988 26,942
OEHAIYD| H=cI S0k 92,046
EfEiatl d= 2AE =102 79,673 82,290 N2,617
307 2I2+0| ™ 79,673 82,290 N2,617
04 QIZFHAAIH E X 79,673 82,290 N2,617
OBl 8= [a48 =103 79,673
HaA: 8= S-S 283,260 267,730 15,5630
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M ALEL
M MY SH(2SL2R/HS)
CHol: MBEISOIT NS (crel: M2
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
| 489,750
& 45,637
Al 1,918,709
EH=sedst 39,860 40,380 A520
201 L2 3| 28,860 27,360 1,500
01 Al2Z2H 2.000 2,000 0
OAZZYH 425X L S X
2,000,000& 2,000
02 Z523| 26,860 25,360 1,500
ONHOIERE S ®II23
1,600,000 *12& 19,200
OHOIEEE S Hot=ER=
180,000 12& 2,160
OMSAIE 2R AIESZ 4,000,000 4,000
OZHUUZTASE 22|
300,000&*53 1,500
202 44| 4,000 3,520 480
01 =LHOAHI 4,000 3,520 480
OAZ=gN JRFA
100, 000242 %22 53] 4,000
203 LRF&| 7,000 7,000 0
03 AIBFRHRFAIH| 7,000 7,000
OAZ=X XSHA 7,000,000 7,000
AZRAX0|EA KA 170,400 130,000 40,400
| 119,280
& 25,560
Al 25,560
301 LEBAZ 170,400 130,000 40,400
| 119,280
& 25,560
Al 25,560
01 ASIEEE2HS(2DEZ ML) 170,400 130,000 40,400
OAE=LE 0I2HAIS 170,400
| 119,280
& 25,560
Al 25,560
=95 E=INISSUN I PN 266,180 254,916 11,264
| 110,099
= 2,736
Al 153,345
307 212t01& 266, 180 254,916 11,264
| 110,099
= 2,736
Al 153,345




SA AEXD}
M HRA SH(SIL2Z/HK)
Pl MEHS0I MHE (St M 2l)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
02 DIZEEMAIRIE R 266, 180 254,916 11,264
o= 184,460
7| %.230
Al 9,230
OHMRL2(4HEE L 1X2)
411,800 x7H*12& 34,592
7| 17,29
Al 17,29
OXNzgs B8z 164,000 +7H 1,148
p) 573
Al 575
U 542 53,8007+ 122 4,520
OMEHSKEX SRS
600,000 x7H*235] 8,400
@FF==a= 3,240
[ 972
Al 2,268
OMEHSKEX SAHI(7H) 11,760
OMEHISK S SEXH|(7) 12,180
OZsHet 5,880
[ 1,764
Al 4,116
ozl HsEs I 228,057 217,642 10,415
7| %,371
[ 2,316
Al 131,370
307 Q1201 228,057 217,642 10,415
7| %,371
[ 2,316
Al 131,370
02 QIZFAANAII B X 228,057 217,642 10,415
oJlez 2,195,950 6+ 128 158,109
7| 79,054
Al 79,055
OHESH2(UHEE L gx2)
411,800 +6H* 122 29,650
7| 14,825
Al 14,825
SEEEI==10INEEE=t=)
53,8002 *6H* 122 3,874
OZEEIH| 600,000 *6%*23| 7,200
OrsF==a= 2,680
& 804
Al 1,876
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SA: AZXD)
I XS SH(2IALZE/NS)
CHel: MBI KBS (CHol: X 2)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
101 QI24H] 195,447 195,447
M JIHR22IEES 195,447 195,447
OZ0IHSHIE 24| 195,447
o2 (HEHE) 2,400,00020% 1% *32 7,200
=J|123(AY) 1,920,000+ 17H+32 97,920
CHELY(MEIR)
2,400,000 % 12%15]x50% 1,200
CHELE(XP)
1,920,0002 * 172%135]%50% 16,320
oY HSA 100,000+ 18 *33] 5,400
oFFrd 85,3502 % 18213 19,972
=P = 95,7002 %1823 5,168
oYLy 96, 94021 1824+ 132 22,684
o X =E(SHHtIAT)
11,58021x3H*10A|2H+32 1,043
oA 221,420 +7 233 4,650
oxig 107, 14024%7%5+33] 2,250
cWSE 2| 150,00024+324*33] 1,350
o9 Eiag 266, 660262 *33] 4,800
oAzt 60,0002 %3 %33 540
o4 250,000 6 *33] 4,500
oXp L 50,0002 *3H*33] 450
201 LB 77,403 77,403
01 AF222IHI 16,023 16,023
OAR2t21H] 16,023
o UBt2 A 2,538,0002*3 7.614
S|, BES ARL H4H]|
2,000,0002 %3¢ 6,000
oX4)| Y HEIEJ| AR
120,000 *3 ¢ 360
oIE g8 375,0002*3 1,125
SEAIH|(QIEHY, SXMHIA, H3H| S)
308,0002+32 924
02 222 52,500 52,500
O=22=29t| 52,500
oMIIR2 7,000,000 %3 21,000
oiolrER2 5,000,000 3 15,000
oJIARS 5,500,000 3 16,500
03 BAFS | 8,880 8,880
OMEBHSMHHEEH I2 02 2%
80,0002%375]x32 8,880
309 M2 647,361 647,361
01 At SHIMNES 647,361 647,361
OZHSHE 29 647,361




2AM:
X{XH -
o /e

cH):

HEE

SH - B BRI(S) - RAY - BAS ol &t G HIDE2
ZZASAE Z0| 240,000 115,000 125,000
401 AZ2HIZ=0H| 240,000 115,000 125,000
01 AlZ2H] 240,000 115,000 125,000
OSUMSAIE HH| 40,000, 00084 40,000
OANoIESH HH| 100,000, 0002 100,000
OAZHOIESE SAIMA Al
100,000, 0002 100,000
ZOHEI0 MBI 2F 203,640 200,000 3,640
p 142,548
Al 61,002
307 Q20| A 203,640 200,000 3.640
p 142,548
Al 61,002
02 PIRFAAAIIBE 203,640 200,000 3.640
O20UHI 100 EHMHAQISHE 2 203,640
p] 142,548
Al 61,002
D0l AE=AFO0EA A 33,503 19,380 14,123
p 23,452
& 5,025
Al 5,006
301 ZErEE= 33,503 19,380 14,123
p] 23,452
= 5,025
Al 5,006
NREEEEES EIEREESTE)) 33,503 19,380 14,123
OOl AZX2H 0|22 X 33,503
p] 23,452
= 5,005
Al 5,006
B Am=x=y 2g 61,940 60,000 1,940
307 ©I2H0| A 61,940 60,000 1,940
02 IFAAAIIB X 61,940 60,000 1,940
OBMREAZ=2Y 249 20,000
OBf#OIPAT X2 SAX|H 20,000
Oz ATR2Y 2UX A 21,940
HOIESH Wugd| 2 20,000 0 20,000
401 A2HI 20| 6,000 0 6,000
01 AlZH 6,000 0 6,000
ONHOIESE Wihg)| FI|ZAF
1,500, 0002 %474 & 6,000
405 XHHE St 14,000 0 14,000
01 KAtUSZE3 S| 14,000 14,000




A3,510
A3,510
1,064
1,064
1,064
210,350
210,350
210,350
10,198
10,198
10,198
A1,520
A1,520
A1,520
VAN
NB74
VAN

15,270
15,270
21,280
21,280
21,280
45,850
45,850
45,850
12,990
12,990
12,990
11,700
11,700
11,700
40,000
40,000
40,000

11,760
11,760
11,760
22,344
22,344
22,344
22,344
35,500
35,500
35,500
35,500
23,188
23,188
23,188
23,188
10,180
10,180
10,180
10,180
39,326
39,326
39,326
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2AM:

K ZH

Ciol: MBS (crol: 21)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
OMI8=2l EHHAtEY MEH S LEERUE N
Zl 39,326
Bt E= HAEE 200,000 172,000 28,000
307 2I2+0| ™ 200,000 172,000 28,000
04 QIZHHAIAIHE X 200,000 172,000 28,000
02024 EHSRAIZHH EHZY =24 HIAEIE 200,000
Epeiob==HItl S S U2 7,150 6,873 277
307 212t01 ™ 7,150 6,873 277
04 QIZHHEAIAIHE R 7,150 6,873 277
OXNi22l EHHAHE==MIEE SEUE S U3 7,150
EfsiatHl &= 3C &-tial 107,000 107,000
307 2I2+0| ™ 107,000 0 107,000
04 QIZFHAAIH E X 107,000 107,000
02024 EHEHAMHH M= 3R& F70H2 107,000
ZRSENXE OFRPAZESHES|IEDI| OFUE 61,678 61,678
307 2I2+0| ™ 61,678 61,678
04 QIZHHAIAIHE X 61,678 0 61,678
OLASEMAT OFPAZES Eald)| OF
23 61,678,000 61,678
ZESEAXE 3| dEHs 5203 27,750 0 27,750
307 212t01 ™ 27,750 27,750
04 QIZHHAIAIHE X 27,750 0 27,750
ORMI31El HESENXT ST Mg
HE &§=02l 27,750
JHSENX TSI HOIESUH=I = 27,042 0 27,042
307 2I2+0| ™ 27,042 27,042
04 QIZFHAIAIIE XL 27,042 27,042
OHMI30E LHEEXXTEIIHI| HOIES
CH=l 27,042
SR 2R S8UHE =202 54,394 0 54,394
307 2I2t01 ™ 54,394 0 54,394
04 QIZHHEAIAIHE R 54,394 54,394
ON20g] SHEU2l Z3E S8UE 520
=l 54,394
ENHAl S EHH T-cl-1 U= 40,000 0 40,000
& 20,000
Al 20,000
307 2I2+0| ™ 40,000 0 40,000
= 20,000
Al 20,000
04 QIZHHAIAIHE X 40,000 0 40,000
OEHAl 2l &1 T-2l1 U3 40,000
= 20,000




2AM:

F M

=aak AHEFJHIvO—TEHiI (CHR: X 2)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
| Al 20,000
EHSRAIEEH ALIEHAEIE 170,000 0 170,000
307 212t01 ™ 170,000 0 170,000
04 QIZHHAIAIHE X 170,000 170,000
02024 EHHHAIZE ALIZHAEIR 170,000
d= OSgdEs WX 97,727 97,727
307 2I2+0| ™ 97,727 0 97,727
04 QIZFHAIAIIE X 97,727 97,727
O2024 8= O=8dEH= U= 97,721
EHEl AtErRd AL EY Ozl 32,100 32,100
307 2I2+0| ™ 32,100 32,100
04 QIZFHAIAIIE XL 32,100 0 32,100
OFEHEY MEHE ALLREYY HE 32,100
&= 33 s+l 84,600 0 84,600
307 212t01 ™ 84,600 84,600
04 QIZHHAIAIHE X 84,600 0 84,600
02024 &= 303 =+l 84,600
EHSHAIEHY &= |AE LMeIAI|HE 40,000 0 40,000
& 20,000
Al 20,000
307 2I2+0| ™ 40,000 0 40,000
& 20,000
Al 20,000
04 QIZIHAAIH E X 40,000 0 40,000
OXNi22l EHAIZH 8= FAE SIeIAT)
CH=l 40,000
= 20,000
Al 20,000
EHEHAIZHE &= 32X U3 60,000 0 60,000
& 30,000
Al 30,000
307 2I2+0| ™ 60,000 0 60,000
& 30,000
Al 30,000
04 QIZFHAAIH E X 60,000 0 60,000
ONI12l EHHAIZH &= WISZ0HE 60,000
= 30,000
Al 30,000
EHEHAl OF 2ES&d 65,430 0 65,430
307 2I2t01 ™ 65,430 0 65,430
04 RIZHHARAL 65,430 65,430
OHNZ| EHMAl OFF 25& Festa 65,430




SN AR}
M A RH(2IY2Z/HS)
el MEH=UZ (Crol: X 21)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
EHEEAl HE 252X 42,340 42,340
307 QI2H0| M 42,340 42,340
04 CIZHHAIAIEE X 42,340 0 42,340
OMI13| EHHAl HE 2= Festa 42,340
EHEEAl =7 253X 34,244 0 34,244
307 QI2H0| M 34,244 34,244
04 QIZFHAIAIHE X 34,244 34,244
OHMI1S| EHBHAl =7 &SS& Festa 34,244
IAELE HAEIY 160,000 0 160,000
[ 80,000
Al 80,000
307 QI2HOIE 160,000 0 160,000
= 80,000
Al 80,000
04 QIZHHAIAIE B = 160,000 0 160,000
020243 CIHUHAYE IIAEZ=HIAEIY 160,000
= 80,000
Al 80,000
HSIIBAEXY - 22l 12,047,171 9,249,249 2,797,922
CH 5,000,000
= 1,001,000
Al 6,046,171
SEZINE 2822 298,346 303,875 25,529
101 Ql24y| 36,886 36,535 351
04 JIZtNI2Z2REE S 36,886 36,535 351
OTEEIE AT 22 ¥ SFF| 36,886
Sl 78,88021%x22* 1652 26,031
oFFag 78,8802 x22 352 5,522
oxrgZRYY 78,8802+ %102 1,578
o2tAH 5,000 *x2%* 1652 1,650
oHEZII 500,000 %234 %135 1,000
cxRErY 78,880 %23 x7L 1,105
201 LEH23H| 179,060 160,300 18,760
01 AtR22lt] 62,830 56,120 6,760
OZIIE Algate| 28
1,440,000 12& 17,280
O=gAl AIEZE 7,000,000 7,000
OFIIZ A& gRReed
60,0003 x2H*118! 14,160
ORCIZHIANAE RX|2t2| 22X
2,750,000 %4=7| 11,000
OsHelAd |X2el 89
280,000 *4 ) Ax 122 13,440




2A:

PSECR o SH(2HL2Z/HK)
St HISIIBAIE XA - 22| (crol: xi21)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
02 2229 116, 180 104, 180 12,000
02322 2 HMAl 86,300
odl|I2= 3,100,000 1274 & 37,200
ool l= 3,500,000 1274 & 42,000
oZ3tE FHe=E 7,000,000 %13] 7,000
o XIS XA (1CH) 100,000 100
O¢2H 6,760
oZEAI|F L]
520,000 %44 & 2,080
oxtg L XCIJIH H24|
390,000 %1274 & 4,680
OAIEZHI R 20,000
oZFAIIF ALE S22
20,000,000 20,000
OXtR Xl 3,120
ost2Ad 260,000 * 124 & 3,120
202 Ot 3,000 2,640 360
NENED 3,000 2,640 360
OZEZII& 2l A=A
100, 000246 * 1 L +53] 3,000
206 XHEH| 40,400 40,400 0
01 XHEH] 40,400 40,400
OZsZI|& SYoe|(BIs2 HIZ M
g3) 30,000,000 30,000
O, 2, 37& ZHE EDXY
10,400,000 10,400
401 AlEHI L2 0HH 34,000 59,000 £\25,000
01 Al&H] 34,000 59,000 £\25,000
OZEZINE AS S 444 A2 FHD|oHH
Y 24 34,000
oZEAIH AS, CEUE, DAY,
NEST HIEEY 2
17,000, 00024 x23] 34,000
405 KHAHE SH 5,000 5,000 0
01 MU SEFSY| 5,000 5,000
OZEZIE HSHARE 22
5,000,000 5,000
NEHS2 22l 352,266 785,019 A432 753
101 Q124 36,886 36,535 351
M IIHR2R2IEES 36,886 36,535 351
OnNIHSZ 2| 22X B2 36,886
=Jlzg 78,8802%x2%x 1652 26,031
oFFg 78,880 x22 352 5,522
oxrZRYsY 78,8802+ %102 1,578
o2tAH 5,000 x2%* 1652 1,650




2A:

PSECR o SH(2HL2Z/HK)
Eelr MSIIBAIERY - 2] (Crol: X 21)
SN BB ERI(E) - HRAMY - B I e HIRE2
o HAZIIHI 500,000&x2F*1 1,000
cHIRSLY 78,8802 +22#72 1,105
201 L2 A 299,380 282,580 16,800
01 AFRZH2IHI 10,800 13,200 A2,400
OIEHST A2 29
900,000 * 12 10,800
02 222 288,580 269,380 19,200
O2222 < HMAl 216,700
CNAMSH JIHLSTAR
6,000,000 6,000
o= 11,000,000 %123] 132,000
cdolrERs 700,000 %1274 & 8,400
osd)| HJIEAME 300, 0002413 300
oXMIIQIMTCH 42
2,000,000 13 2,000
oMa=xHAZ 1,000,000 %23] 2,000
oHAASE 1,200,0008+53 6,000
oZHI(010121 & LHel)
5,000,000+ 12JH & 60,000
OAIEZH| R 20,000
DAY S ANLE X2
20,000,000 20,000
ODAMST 52| SX2 &84
350,000 %1274 & 4,200
ODNIAMSZ LI HHI(MI2)
20,000,000 %13] 20,000
OFSHST QAU 2Et&AH|
140,000 %123 1,680
OAUKSAIES 6IHA AZAIA oHE 2R
el =249 26,000,0002 26,000
202 Ot 800 704 %
01 2LH0IH 800 704 %
ONAMSE LA
100, 00024 x2Hx2 U *23| 800
206 THEH] 15,200 15,200
01 X2l 15,200 15,200 0
OFI,S4,01H S X 2L
4,800,000 4,800
OLEDZY, 4HEAY 228 32
10,400, 000 10,400
EH 2% 222 211,743 211,743
101 Q124 40,085 0 40,085
M IIHR2R2IEES 40,085 40,085
OEfHEas 29 2 25 22 40,085
oJlEgag 78,880 %4 3 x622! 19,563




2A:

PSEE S SH(2L2AZ/HK)
Eelr MSIIBAIERY - 2] (Crol: X 21)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
oFsrg 78,8802 x4 2132 4,102
oF2rY 118,320 x4 x 12 5,680
oA 5,000 x4 2782 1,560
=t 197,200 %4 %4 3.1%6
oHEZII 500,000 %434+135] 2,000
EE=pEa= 78,8802 x4 32 947
o024 9,860 4% +78L 3,077
201 LBH29H| 10,600 10,600
01 AF22t2IHl 2,700 0 2,700
O=88 AMle2el 29 200,000 +32 600
OQIEYl - 28| - H4D| - WA AIBR
200,00024+32 600
OdlgItE ZHl 42
20,000,000 2. 5%+32 1,500
02 232l 7,900 0 7,900
o®MIIe3 1,200,000 32 3,600
Odot=ER= 100,0002+3% 300
OS2UZ J|H 44| 4,000,000& 4,000
206 T2 HI 1,500 0 1,500
01 24l 1,500 1,500
OSYSE (=283, 225 5) 7Y
1,500,000 1,500
300 M&3 159,558 159,558
01 2Ab- AN ES 159,558 0 159,558
OEHAI L 212 B HAXNES 159,558
FHHA R =TI 222 185, 146 160,355 24,791
101 Q14| 36,886 36,535 351
04 It 22 TS24 36,886 36,535 351
OAZXIT 2| 22X 22 36,886
oJl2s 78,8804 %23 x 165 26,031
oFZrg 78,880 x22 352 5,522
oxraZgYsY 78,880 %23 %10 1,578
oZkat] 5,0008 x2H* 1652 1,650
oHEEIIY| 500,00024x22*13] 1,000
cOXR3aLY 78,880+ +7L 1,105
201 LBHR29Y 117,660 99,420 18,240
01 AF22t2IHl 18,400 17,000 1,400
OAZXMF L2 29
400,000 %1274 & 4,800
OSQIAHIAAL X2 2H
1,450,00024 x4 2| 5,800
OL#HelAld RXizel 249
650,000 %1274 & 7,800




2A:
X{XH -
o /e

cH):

S - EHH - SR(E) - HRAIR - B ofl e e imE=T
02 2229 99,260 82,420 16,840
O2222 2 HMAl 44,460
oMIIR= 3,000,000 1274 & 36,000
oMot ER3 300,000 %1274 3,600
oFI|OIM TR (HEe42
230,000 %1204 & 2,760
oNEX HAZ 1,000,000 %23] 2,000
SRS XIAI(1TH) 100,000& 100
O¢2H| 4,800
OATRMIT L]
400,000 +6H 2,400
oty A=l 200,000 1274 & 2,400
OAZXIIT ALE X2l
30,000,000 30,000
OFfHAZ =TT 28 AIES HI| - HYUot
dEY 29 20,000,0002 20,000
206 M=l 30,600 24,400 6,200
01 2HI 30,600 24,400 6,200
OAZXIIT 2|
1,300,0002* 12742 15,600
OAZXIT LEDEY 7
5,000,000 *3H 15,000
ZZHSAE &= 4,670 0 4,670
201 L2 A 4,670 4,670
01 AFR22IHI 4,670 0 4,670
O2ZHSAIE H2 Aolag
350,000 x5 *23] 3,500
OZZHISAIE Az Aol ot
67,0002 *5H*23] 670
OZTHSAIE HB2H ABLARE 2
500,000 500
EHed & MXISRAHME =4 5,800,000 0 5,800,000
cH 5,000,000
Al 800,000
401 Al&HIL 2 0HY] 5,800,000 0 5,800,000
cH 5,000,000
Al 800,000
01 Al&H] 5,800,000 0 5,800,000
OFfe & MXESMEH X4 5,800,000
cH 5,000,000
Al 800,000
EHE CI2X MAISBAIL(0OIS) A (HEAIY) 2,500,000 2,500,000
401 AlEHI 2L 20HY 2,500,000 0 2,500,000
01 Al&H] 2,500,000 0 2,500,000




2A AE=1
A SN SH(2LBB/HS)
Eelr MSIIBAIERY - 2] (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
ONAE TSR aNzd AE(00s) =4
2,500,000, 0002 2,500,000
BN 2R B5 980,000 0 980,000
401 A2 L= 0| 980,000 0 980,000
01 A&t 980,000 980,000
OHYB=2ZI|1E 35 980,000,000 980,000
SEMSE cl22e DA 175,000 0 175,000
401 AISBIZ SR 175,000 0 175,000
01 A&t 175,000 175,000
OBEHHSE 21282 Al AAIEHEY 175,000
BN OIRF ALZ SEBAHTEAIY) 300,000 0 300,000
< 195,000
Al 105,000
401 A2 L= 0| 300,000 0 300,000
= 195,000
Al 105,000
01 Al 300,000 0 300,000
OSDT AZ SHTA 300,000
= 195,000
Al 105,000
BN ARXDIT OFPE AISSIEAI (HEAIY) 1,240,000 0 1,240,000
< 806,000
Al 434,000
401 Al 2L 0hY| 1,240,000 0 1,240,000
< 806,000
Al 434,000
01 A& 1,240,000 0 1,240,000
OFHS AZXTIE 0FRE Al SBA 1,240,000
= 806,000
Al 434,000
HEMS SH(EFLZZ/HS) 22,000 0 22,000
METFOIT KBS 22,000 0 22,000
ENSHAI 362 DIIEZDE X8 Al 22,000 0 22,000
401 AL 0hY| 22,000 0 22,000
01 A& 22,000 0 22,000
OEHeAl 368 IIEABTH XTaA J|=J=
+8 29 22,000, 00084 22,000
B™SAJH (AZ=alH D) (IEHIIE 32,392 30,096 2,29
PN 32,30 30,096 2,29
1=3| 32,39 30,096 2,29
201 Ypre | 26,672 25,136 1,536
01 AFR2r2IH| 24,672 23,136 1,536
OR A2 JI=2ZH| 280,002+ 128 3,360




SM: AZXD}
HIH: HASHAH| (ALY M) (JIEHIIE)
&e: J|E238h| (cHol: M)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
OMNREE JAU(SAK S
280,000 128 3,360
OMEAIRI|I| A2E 2
280,000 x 12 3,360
O=gtl 8,0009 19T *8* 12 14,592
02 222 2,000 2,000 0
ORWeZ = 2,000,0002! 2,000
202 Ot 1,520 1,360 160
NENEED 1,520 1,360 160
OHIA22 2HLHOHI
20,0002 * 19 %43 1,520
203 2EZIH| 4,200 3,600 600
04 ENSYAREZAIH 4,200 3,600 600
ORNM2Z gRF2Y| 350,000 %12 4,200




